EBS 20 Ev= S0 # 3% test

1. 27 B= TV Z230| s O[op7|sf FM K.

N

W7t 78 &4 B 4E2 w40

3. Zofl 2t MY MAE & I m28 S0 32 He B2 7t Bk

4- Mztofl =tA7F B[ Qs MASO| O3 & 4= AL, SHeloM LojLts aMEE FE 5 AT

1 HjolE L7t £ B g 22 Z2a ol

S

6. E3| 2% 22|AtE0| Ltet HAS Hols Z2IOUS Fotsict

7. QHrolE # et B 4+ YUs 22/¥e ¥ Tt R0 ZRIYUE FAH 2ot

o

Z127h = MY O 24

mjo

o = M= UCk




EBS 20 Ev= S0 # 3% test

1. =2 o5 20| CHal OJoF7[s FAK.
>

os Z==0| ALt

3. Ololl= HE AEf T 3A 2

|Zot=s B3 &Lt H20|0E| &7t CHAM R
>

4. A8LE 25 7+

st
5 gusts

Ht£O pHAL 0f 50|C}.
»
5. BE 0|50 Ms SRRt BaA MBSl RS HPBiC)
»
6.1 3, Y= FAS T} HAE

ojdol ey B 20 tietE Lt

N
1
i
)
n

TS o™ Z=2asSat

£ 92|, AIRISO0| SeXlet BUOE HAS
st
| 4

HA s Z22M [oIE =714




